15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page 1	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID	
Jerodine Nall 101 Acker St E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 9 BLK 9	Grade and Pave Lighting		50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0103	
Saint Paul MN 55117-5508 *101 ACKER ST E *Ward: 5		*** Owner and Taxpayer ***						
Babe Llc 36 Belvidere St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 33 BLK 8	Grade and Pave Lighting		50.33 8.91	55.00 55.00	\$2,768.15 \$490.05	30-29-22-43-0135	
St Paul MN 55107-3306 *102 ACKER ST E *Ward: 5		*** Owner and Taxpa	yer ***			\$3,258.20		
Chad W Clay 8388 9th St N	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 32	Grade and Pave Lighting		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0134	
Oakdale MN 55128-5394 *106 ACKER ST E *Ward: 5	BLK 8	*** Taxpayer ***			=	\$2,962.00		
Thomas A Clay Clay 106 Acker St E St Paul MN 55117-5509 *106 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 32 BLK 8	*** Owner ***					30-29-22-43-0134	
Blong Lee 8196 9th St N	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL W 20 FT OF LOT 11 AND ALL OF LOT 10 BLK 9	Grade and Pave		50.33 8.91	70.00 70.00	\$3,523.10 \$623.70	30-29-22-43-0104	
Oakdale MN 55128-5361 *109 ACKER ST E *Ward: 5	EGT TTAKES ALLE OF LOT TO BLACK	*** Owner and Taxpa	ıyer ***		=	\$4,146.80		
Patricia L Jasinski 11 Acker St E	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX W 40FT S 6 FT OF LOT	Grade and Pave Lighting		50.33 8.91	81.00 81.00	\$4,076.73 \$721.71	30-29-22-34-0030	
St Paul MN 55117-5504 *11 ACKER ST E	17; EX W 40 FT LOT 18 & ALL OF LOT 19 BLK 3	*** Owner and Taxpa	ıyer ***		=	\$4,798.44		

15:09:49 12/21/2012	Public Improvement Assessment R	•	Project: 19138 Assm	t: 135202	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
James J Davis 360 Maple St St Paul MN 55106-5134 *110 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 31 BLK 8	Grade and Pave Lighting  *** Owner and Taxpayer *	50.33	50.00 50.00 =	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0133
Duane O Barnes Barnes 114 Acker St E St Paul MN 55117-5509 *114 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 8	Grade and Pave Lighting  *** Owner ***	50.33	50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0132
James J Davis 360 Maple St St Paul MN 55106-5134 *114 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 8	*** Taxpayer ***				30-29-22-43-0132
Salim Ntambwe 1245 Meadow Oak Ct Monticello MN 55362-9527 *115 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 30 FT OF LOT 11 BLK 9	Grade and Pave Lighting  *** Owner and Taxpayer *	50.33	30.00 30.00 =	\$1,509.90 \$267.30 \$1,777.20	30-29-22-43-0105
James J Davis 360 Maple St St Paul MN 55106-5134 *116 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 29 BLK 8	Grade and Pave Lighting  *** Owner and Taxpayer *	50.33 8.91	50.00 50.00 =	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0131
United Hmong Investment Llc 778 Viking Dr Maplewood MN 55117-1666 *117 ACKER ST E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 9	Grade and Pave Lighting  *** Owner and Taxpayer *	50.33 8.91	50.00 50.00 =	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0106

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	Charge Amts	Property ID
James J Davis 360 Maple St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 28 BLK 8	Grade and Pave Lighting	50.33 8.91	53.00 53.00	\$2,667.49 \$472.23	30-29-22-43-0130
St Paul MN 55106-5134 *122 ACKER ST E *Ward: 5		*** Owner and Taxpay	rer ***	•	\$3,139.72	
Christopher Doherty 123 Acker St E St Paul MN 55117-5508	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 13 BLK 9	Grade and Pave Lighting	50.33	45.00 45.00	\$2,264.85 \$400.95 \$2,665.80	30-29-22-43-0107
*123 ACKER ST E *Ward: 5		*** Owner and Taxpay	rer ***		. ,	
Ronald Palmen 29 Island Rd	F. W. LAPHAM'S ADDITION LOT 5	Grade and Pave Lighting	50.33	63.00 63.00	\$3,170.79 \$561.33	30-29-22-43-0109
North Oaks MN 55127-2610 *127 ACKER ST E *Ward: 5		*** Owner and Taxpay	rer ***	:	\$3,732.12	
James J Davis 360 Maple St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 27	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0129
St Paul MN 55106-5134 *128 ACKER ST E *Ward: 5	BLK 8	*** Owner and Taxpay	'er ***	•	\$2,962.00	
James J Davis 360 Maple St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 26 BLK 8	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0128
St Paul MN 55106-5134 *132 ACKER ST E		*** Owner and Taxpay	er ***		\$2,962.00	

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Resolution #:	•		Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Uni</u>	it Rate	Quantity	Charge Amts	Property ID
James J Davis 360 Maple St St Paul MN 55106-5134 *136 ACKER ST E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 25 BLK 8	Grade and Pave Lighting  *** Owner and Taxpa	ayer ***	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0127
*Ward: 5			•				
Jared E A Gruett	DRAKE'S 2ND ADDITION TO ST.	Grade and Pave		50.33	121.00	\$6,089.93	30-29-22-34-0081
Sara A Gruett 3463 Ridgestone Cir	PAUL, MINN. LOT 12 & LOT 13 BLK 4	Lighting		8.91	121.00	\$1,078.11 \$7,168.04	
Woodbury MN 55125-8449 *14 ACKER ST E *Ward: 5		*** Owner and Taxpa	yer ***				
Gary Schriefer 9565 Green Lake Trl	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 24	Grade and Pave Lighting		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0126
*140 ACKER ST E *Ward: 5	BLK 8	*** Owner ***			:	\$2,962.00	
Thomas A Gavic 3507 Madison Place Ne Minneapolis MN 55418-1232 *140 ACKER ST E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 24 BLK 8	*** Taxpayer ***					30-29-22-43-0126
*Ward: 5							
Gary Schriefer 9565 Green Lake Trl	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 23	Grade and Pave Lighting		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0125
Chisago City MN 55013-9768 *144 ACKER ST E *Ward: 5	BLK 8	*** Owner ***			=	\$2,962.00	
Thomas A Gavic 3507 Madison Place Ne Minneapolis MN 55418-1232	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 23 BLK 8	*** Taxpayer ***			_ — — —		30-29-22-43-0125

\*144 ACKER ST E

15:09:49 12/21/2012	Public Improvement Assessment Ro	•	Project: 19138 Assur	nt: 135202	Manager: LM	P
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Gary Schriefer 9565 Green Lake Trl	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 22 BLK 8	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0124
Chisago City MN 55013-9768 C150 ACKER ST E CWard: 5		*** Owner ***		-	\$2,962.00	
Thomas A Gavic 3507 Madison Place Ne Minneapolis MN 55418-1232 *150 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 22 BLK 8	*** Taxpayer ***				30-29-22-43-0124
Ronald Palmen Patricia Palmen 19 Island Road St Paul MN 55127-2610 F155 ACKER ST E FWard: 5	F. W. LAPHAM'S ADDITION VAC ALLEY ACCRUING & FOL; SW 1/2 OF LOT 10 & ALL OF LOTS 2 3 & 4 & ALL OF LOTS 6 THRU LOT 9	Grade and Pave Lighting  *** Owner and Taxpayer *	50.33 8.91	400.00	\$20,132.00 \$3,564.00 \$23,696.00	30-29-22-43-0139
arry Robert Lund	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL WLY 1/2 OF	Grade and Pave Lighting	50.33	125.00 125.00	\$6,291.25 \$1,113.75	30-29-22-43-0123
60 Acker St E St Paul MN 55117-5510 F160 ACKER ST E Ward: 5	LOT 19 & ALL OF LOTS 20 & LOT 21 BLK 8	*** Owner and Taxpayer *	**	=	\$7,405.00	
Apogee Properties Llc 2817 Anthony Ln S #207	F. W. LAPHAM'S ADDITION NELY 1/2 OF LOT 10 & ALL OF LOT 11	Grade and Pave Lighting	50.33	52.00 52.00	\$2,617.16 \$463.32	30-29-22-43-0110
St Anthony MN 55418-2490				-	\$3,080.48	

\*\*\* Owner and Taxpayer \*\*\*

\*161 ACKER ST E

\*Ward: 5

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 A Resolution #:	assmt: 135202	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<u>Quantity</u>	Charge Amts	<b>Property ID</b>
State Of Mn Trust Exempt P0 Box 64097	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL ELY 1/2 OF LOT 19 BLK 8	Grade and Pave Lighting	50.33		\$1,258.25 \$222.75	30-29-22-43-0122 ***EXEMPT***
St Paul MN 55164-0097 *162 ACKER ST E *Ward: 5		\$1,481.00				
	F. W. LAPHAM'S ADDITION LOT 12	Grade and Pave Lighting			\$2,415.84 \$427.68	30-29-22-43-0111
St Paul MN 55117-5511 *163 ACKER ST E *Ward: 5		*** Owner and Taxpay	er ***		\$2,843.52	
Breme Enterprises Llc 1721 White Bear Ave	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 18 BLK 8	Grade and Pave Lighting	50.33		\$2,013.20 \$356.40	30-29-22-43-0121
Saint Paul MN 55109-3701 *168 ACKER ST E *Ward: 5		*** Owner and Taxpayo				
Mau Van Le	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL EX NLY 80	Grade and Pave Lighting			\$2,516.50 \$445.50	30-29-22-43-0089
Kim Phuong Truong 173 Acker St E St Paul MN 55117-5512 *173 ACKER ST E *Ward: 5	FT LOT 15 BLK 7	*** Owner and Taxpayo		30.00	\$2,962.00	
Kay R Phernetton 174 Acker St E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 17 BLK 8	Grade and Pave Lighting	50.33		\$2,013.20 \$356.40	30-29-22-43-0120
St Paul MN 55117-5513 * <b>174 ACKER ST E</b>	DLA 0	*** Owner and Taxpay	er ***		\$2,369.60	

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Assi Resolution #:	mt: 135202	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Gary L Lund  177 Acker St E  St Paul MN 55117 5512	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOTS 16 & LOT 17 BLK 7	Grade and Pave Lighting	50.33 8.91	100.00	\$5,033.00 \$891.00	30-29-22-43-0154
St Paul MN 55117-5512 *177 ACKER ST E *Ward: 5		*** Owner and Taxpay	er ***		\$5,924.00	
Soliving Kong Lee Her 178 Acker St E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 16 BLK 8	Grade and Pave Lighting	50.33	50.00	\$2,516.50 \$445.50	30-29-22-43-0119
*178 ACKER ST E  *Ward: 5		*** Owner and Taxpay	er ***		\$2,962.00	
Krawczewski Family Lp 500 Aqua Cir Lino Lakes MN 55014-2717	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 4 THRU LOT 11 BLK 4	Grade and Pave Lighting	50.33	295.00 295.00	\$14,847.35 \$2,628.45 \$17,475.80	30-29-22-34-0062
*18 ACKER ST E *Ward: 5		*** Owner and Taxpay	er ***			
James R Luadtke 1745 Alta Vista Dr Roseville MN 55113-6534	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 15 BLK 8	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0118
*182 ACKER ST E  *Ward: 5		*** Owner and Taxpay	er ***		\$2,962.00	
Patrick Hogan 1043 Grand Ave Pmb 554	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 14 BLK 8	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0117
St Paul MN 55105-3002 * <b>186 ACKER ST E</b>		*** Owner and Taxpay	er ***	:	\$2,962.00	

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Assa Resolution #:	mt: 135202	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<u>Property ID</u>	
Victor T Smak Kelley Smak 345 Blue Spruce Ln Somerset WI 54025-9083 *187 ACKER ST E *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 18 BLK 7	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0093	
		*** Owner and Taxpay	er ***	•	\$2,962.00		
J Remedios Romero Sanchez	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 13	— — — — — — — — — — — — — — — — — — —	50.33 - 50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0116	
R Acker St E  IN THE CITY OF ST. PAUL LOT BLK 8  88 ACKER ST E  Yard: 5	BLK 8	*** Owner and Taxpay			\$2,962.00		
Covenant Capital Llc 2300 Gervais Hills Dr Little Canada MN 55117-6039	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL SUBJ TO ESMTS; LOTS 11 & LOT 12 BLK 8	Grade and Pave Lighting	50.33	100.00 100.00	\$5,033.00 \$891.00 \$5,924.00	30-29-22-43-0115	
*196 ACKER ST E *Ward: 5		*** Owner and Taxpay	er ***				
Federal National Mortgage Association 4221 Dallas Pkwy International Plaza Ii	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 19 BLK	Grade and Pave Lighting		50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0150	
Ste 100  Dallas TX 75254-2946  *197 ACKER ST E  *Ward: 5	7	*** Owner and Taxpay		:	\$2,962.00		
Frank Brown Marie C Brown	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 20 BLK	Grade and Pave Lighting	50.33 - 50.33 - 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0151	
201 Acker St E St Paul MN 55117-5512	7	*** Owner and Taxpay	er ***	:	\$2,962.00		

\*201 ACKER ST E

15:09:49 12/21/2012	Public Improvement Assessment R	coll by Address  Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page 9
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Chong Moua 204 Acker St E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 10 BLK 8	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0114
eaint Paul MN 55117-5513 F204 ACKER ST E Ward: 5		*** Owner and Taxpayer ***				
Jeffery T Kane 2016 Highland Pky St Paul MN 55116-1309	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL SUBJ TO HWY 390 LOTS 8 & LOT 9 BLK 8	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0156
*212 ACKER ST E *Ward: 5		*** Owner and Taxpay	/er ***			
Matthew Gordon 3 Acker St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. W 40 FT OF S 6 FT OF	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0029
St Paul MN 55117-5504 *3 ACKER ST E *Ward: 5	LOT 17 AND W 40 FT OF LOT 18 BLK 3	*** Owner and Taxpay			\$2,369.60	
Delane W Jones Phyllis M Jones	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 20 THRU LOT 23	Grade and Pave Lighting	50.33	160.00 160.00	\$8,052.80 \$1,425.60	30-29-22-34-0084
13424 80th St Milaca MN 56353-4409 *33 ACKER ST E *Ward: 5	BLK 3	*** Owner and Taxpay	/er ***	•	\$9,478.40	
Kao Her 1601 Westminster St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. E 43 FT OF LOT 16 AND ALL OF LOT 15 BLK 2	Grade and Pave Lighting	50.33 8.91	36.00 36.00	\$1,811.88 \$320.76	30-29-22-34-0047
St Paul MN 55130-3037 *65 ACKER ST E		*** Owner and Taxpay	/er ***		\$2,132.64	

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assmt	: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID
Rebecca J Lee 1746 Clear Ave E Saint Paul MN 55106-1334	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK 9	Grade and Pave Lighting		50.33	43.00 43.00	\$2,164.19 \$383.13 \$2,547.32	30-29-22-43-0102
*99 ACKER ST E *Ward: 5		*** Owner and Taxpayer	r ***			\$2,347.32	
	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 21 BLK 6	Grade and Pave		50.33	40.00	\$2,013.20	30-29-22-34-0015
11 Acker St W St Paul MN 55117-5560	TAGE, MINN, EGT 21 BER V	Lighting		8.91	40.00	\$356.40	
*11 ACKER ST W *Ward: 5		*** Owner and Taxpayer	r ***			\$2,309.00	
Quality Residences Llc	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. SUBJ TO N S POWER CO	Grade and Pave Lighting		50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0070
23 Payne Ave St Paul MN 55130-4001	ESMT LOT 9 BLK 5	Lighting		8.91	40.00 <b>=</b>	\$2,369.60	
*16 ACKER ST W *Ward: 5		*** Owner and Taxpayer	r ***			, ,,	
	DRAKE'S 2ND ADDITION TO ST.	Grade and Pave	- — — —	50.33	40.00	\$2,013.20	30-29-22-34-0014
7 Acker St W It Paul MN 55117-5560	PAUL, MINN. LOT 20 BLK 6	Lighting		8.91	40.00	\$356.40	
*17 ACKER ST W *Ward: 5		*** Owner and Taxpayer	r ***			\$2,369.60	
	DRAKE'S 2ND ADDITION TO ST.	— — — — — — Grade and Pave	- — — — –	50.33	40.00	\$2,013.20	30-29-22-34-0071
E1340 1205th Ave Downing WI 54734-9499	PAUL, MINN. LOT 10 BLK 5	Lighting		8.91	40.00	\$356.40	
*18 ACKER ST W *Ward: 5		*** Owner ***				Ψ2,3 07.00	
Silvia Roque  18 Acker St W	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 10 BLK 5	*** Taxpayer ***	- — — —		- — — —		30-29-22-34-0071

Saint Paul MN 55117-5561
\*18 ACKER ST W

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Resolution #:	•		Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Bee Vue Lamena Vue 21301 Furman St Ne	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 11 BLK 5	Grade and Pave Lighting		50.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0072	
oming MN 55092-9626  O ACKER ST W  ard: 5				\$2,369.60				
Quality Residences Llc  23 Payne Ave	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX N 2 5/10 FT LOT 19	Grade and Pave Lighting		50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0013	
St Paul MN 55130-4001	BLK 6				=	\$2,369.60		
*21 ACKER ST W *Ward: 5		*** Owner and Taxpay	/er ***					
Alerus Financial Na Attn Gary Lechko Special Credit Service	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 18 BLK 6	Grade and Pave Lighting		50.33 8.91	<del>4</del> 0.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0012	
Officer 2520 White Bear Ave N Maplewood MN 55109-5136 23 ACKER ST W Ward: 5		*** Owner and Taxpay	/er ***		:	\$2,369.60		
Carlos Hernandez Amy Hernandez	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. SUBJ TO N S POWER CO ESMT LOT 12 BLK 5	Grade and Pave Lighting		50.33 8.91	40.00	\$2,013.20 \$356.40	30-29-22-34-0073	
66 Acker St W 6t Paul MN 55117-5561 626 ACKER ST W 6t Ward: 5		*** Owner and Taxpay	ver ***			\$2,369.60		
Mark R Lendway  Janie H Lendway	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 17 BLK 6	Grade and Pave Lighting		50.33 8.91	40.00	\$2,013.20 \$356.40	30-29-22-34-0011	
4355 Echo Ln Stacy MN 55079-9295		*** Owner and Taxpay	/er ***		=	\$2,369.60		

\*27 ACKER ST W

15:09:49 12/21/2012	Public Improvement Assessment R	coll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page 12
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>
Nickalos J Lucas 29 Acker St W	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 16 BLK 6	Grade and Pave Lighting	50.33 8.91	40.00	\$2,013.20 \$356.40	30-29-22-34-0010
St Paul MN 55117-5560 *29 ACKER ST W *Ward: 5		*** Owner and Taxpayer	***	•	\$2,369.60	
Song Xiong 30 Acker St W Saint Paul MN 55117-5561	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 13 AND LOT 14 BLK 5	Grade and Pave Lighting	50.33	80.00 80.00	\$4,026.40 \$712.80 \$4,739.20	30-29-22-34-0074
*30 ACKER ST W *Ward: 5		*** Owner and Taxpayer	***		Ф <del>1</del> ,/39.20	
	EX W ½ OF W ½; LOT 48 ALL OF LOT 49	Grade and Pave Lighting	50.33	159.00 159.00	\$8,002.47 \$1,416.69	30-29-22-34-0088
Mendota Heights MN 55118-3710 *4 ACKER ST W *Ward: 5		*** Owner and Taxpayer	***	•	\$9,419.16	
Itn Llc 3104 Pacific St N Suite 300	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 22 BLK 6	Grade and Pave Lighting	50.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0016
Minneapolis MN 55411-1642  *9 ACKER ST W  *Ward: 5		*** Owner and Taxpayer			\$2,369.60	
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692	SOO LINE PLAT NUMBER 4 N 1/2 OF JESSAMINE AVE VAC ADJ AND LOT I	Grade and Pave Lighting	50.33	35.00 35.00	\$1,761.55 \$311.85 \$2,073.40	30-29-22-12-0040 ***EXEMPT***
* AGATE ST		*** Owner and Taxpayer	***		\$ <b>2</b> ,0750	

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	Property ID
Richard Shwe 1017 Agate St	DEER PARK DIVISION LOT 1 BLK 2	Grade and Pave Lighting	50.33 8.91	43.00 43.00	\$2,164.19 \$383.13	30-29-22-13-0113
Saint Paul MN 55130-5032 *1017 AGATE ST *Ward: 5		*** Owner and Taxpayer	· ***		\$2,547.32	
	VIRGILIA DIVISION NO PART OF VAC N-S ALLEY ADJ TO LOTS 9 10 & 11; THE FOL; LOT B & LOTS 6 THRU LOT	Grade and Pave Lighting	50.33 8.91	100.00	\$5,033.00 \$891.00	30-29-22-13-0036
St Paul MN 55114-0179 *1040 AGATE ST *Ward: 5	11 BLK 1	*** Owner and Taxpayer	· ***		\$5,924.00	
040 1052 1076 Agate Invst Ll Po Box 14179	WHITTIER DIVISION LOTS 10 AND LOT 11 BLK 1	Grade and Pave Lighting	50.33	100.00 100.00	\$5,033.00 \$891.00	30-29-22-13-0007
St Paul MN 55114-0179  *1052 AGATE ST  *Ward: 5		*** Owner and Taxpayer	· ***		\$5,924.00	
Dien Ngoc Thi Pham Trong Ngyuen	SOO LINE PLAT NUMBER 4 SLY 51 FT OF LOT H	Grade and Pave Lighting	50.33	51.00 51.00	\$2,566.83 \$454.41	30-29-22-12-0089
116 Agate St St Paul MN 55117-5045 F1116 AGATE ST Ward: 5		*** Owner and Taxpayer	· ***	•	\$3,021.24	
Danmark Properties Llc	F. W. LAPHAM'S ADDITION LOT 1	Grade and Pave Lighting	50.33 8.91	63.00 63.00	\$3,170.79 \$561.33	30-29-22-43-0108
23 Payne Ave aint Paul MN 55130-4001  780 AGATE ST  Ward: 5		*** Taxpayer ***	6.71	33.00	\$3,732.12	
Raymond W Hall Po Box 1996 Burnsville MN 55337-0995	F. W. LAPHAM'S ADDITION LOT 1	*** Owner ***				30-29-22-43-0108

\*780 AGATE ST

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Resolution #:			Manager: LM	Page 1	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	Charge Amts	Property ID	
Abd Consulting Service Llc	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 11	Grade and Pave		50.33	50.00	\$2,516.50	30-29-22-43-0062	
5509 Highland Rd Minnetonka MN 55345-5634	BLK 5	Lighting		8.91	50.00	\$445.50 \$2,962.00		
*784 AGATE ST *Ward: 5		*** Owner and Taxpaye	T ***			\$2,962.00		
April A Mart	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL EX PART	Grade and Pave Lighting	- — — — –	50.33 8.91	34.00 34.00	\$1,711.22 \$302.94	30-29-22-43-0145	
794 Agate St St Paul MN 55117-5515	OF LOT 7 LYING NELY OF LINE BEG ON NWLY LINE OF SD LOT 27.40 FT	Lighting		0.71	34.00	\$2,014.16		
* <b>794 AGATE ST</b> *Ward: 5	NELY OF SW COR OF SD LOT TH SE 106.01 FT TO PT ON ELY LINE OF SD	*** Owner and Taxpaye	r ***			\$2,01 <del>4</del> .10		
Shirley J Petway 796 Agate St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL PART OF	Grade and Pave Lighting	_ — — — –	50.33 8.91	31.00 31.00	\$1,560.23 \$276.21	30-29-22-43-0144	
*796 AGATE ST *Ward: 5	LOT 7 BLK 5 LYING NELY OF LINE BEG ON NWLY LINE OF SD LOT 27.40 FT NELY OF SW COR OF SD LOT TH SE 106.01 FT TO PT ON ELY LINE OF SD	*** Owner and Taxpaye	r ***		:	\$1,836.44		
Dale Robert Lashley	EDMUND RICE'S SECOND ADDITION		- — — — –	50.33	49.00		30-29-22-43-0049	
Gail Marie Kern	TO THE CITY OF ST. PAUL E 1/2 OF LOT 20 AND ALL OF LOT 21 BLK 4	Lighting		8.91	49.00	\$436.59	00 27 22 10 00 17	
797 Agate St St Paul MN 55117-5514 * <b>797 AGATE ST</b> *Ward: 5		*** Owner and Taxpaye	т ***		•	\$2,902.76		
Scott D Sorochak 804 Agate St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK	Grade and Pave Lighting		50.33 8.91	83.00 83.00	\$4,177.39 \$739.53	30-29-22-43-0056	
*804 AGATE ST	5	*** Owner and Taxpaye	r ***		:	\$4,916.92		

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	smt: 135202	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
State Of Mn Trust Exempt P0 Box 64097	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL S 75 FT OF LOT 1 BLK 4	Grade and Pave Lighting	50.33 8.91	77.00 77.00	\$3,875.41 \$686.07 \$4,561.48	30-29-22-43-0025 ***EXEMPT***
*805 AGATE ST *Ward: 5	0097	*** Owner and Taxpa	*** Owner and Taxpayer ***			
Jeffrey J Gunelson Rose Mary Gunelson	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL SLY 33 FT OF LOT 3 BLK 5	Grade and Pave Lighting		33.00 33.00	\$1,660.89 \$294.03	30-29-22-43-0053
806 Agate St St Paul MN 55117-5515 *806 AGATE ST *Ward: 5		*** Owner and Taxpa	ayer ***		\$1,954.92	
Ronald Dugan 821 Agate St St Paul MN 55117-5516 *821 AGATE ST	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 98 FT OF LOT 21 BLK 3	Grade and Pave Lighting  *** Owner and Taxpa	50.33 8.91	49.00 49.00	\$2,466.17 \$436.59 \$2,902.76	30-29-22-43-0011
*Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL EX W 52 FT LOT 20 BLK 3	— Grade and Pave Lighting  *** Owner and Taxpa	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0012

Public Improvement Assessment Ro	Ratification Date:	Project: 19138 Ass Resolution #:	smt: 135202	Manager: LM	Page
<b>Property Description</b>	Item Description	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19	Grade and Pave Lighting	50.33 8.91	48.00 48.00	\$2,415.84 \$427.68	30-29-22-43-0143
BLK 3	*** Owner ***			\$2,843.52	
EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3	*** Taxpayer ***				30-29-22-43-0143
EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL N 2 FT OF LOT 19 & ALL OF LOT 18 BLK 3	Grade and Pave Lighting  *** Owner and Taxpaye	50.33 8.91	52.00 52.00	\$2,617.16 \$463.32 \$3,080.48	30-29-22-43-0142
EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL VAC ALLEY ADJ & LOT 9 BLK 2	Grade and Pave Lighting  *** Owner and Taxpaye	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0112
EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 3	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0074
	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL N 2 FT OF LOT 19 & ALL OF LOT 18 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL VAC ALLEY ADJ & LOT 9 BLK 2  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL VAC ALLEY ADJ & LOT 9 BLK 2	Property Description  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL N 2 FT OF LOT 19 & ALL OF LOT 18 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL VAC ALLEY ADJ & LOT 9 BLK 2  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 3  EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 3  Grade and Pave Lighting  **** Owner and Taxpaye  #*** Owner and Taxpaye	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 11 FT OF N 72 FT OF LOT 17 & EX N 2 FT; LOT 19 BLK 3	Property Description	Property Description   Item Description   Unit Rate   Quantity   Charge Amts

\*845 AGATE ST

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
State Of Mn Trust Exempt P0 Box 64097	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 3	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0073 ***EXEMPT***
St Paul MN 55164-0097  St 847 AGATE ST  St Ward: 5		*** Owner and Taxpayo	er ***	-	\$2,962.00	
Yee Lee 350 Agate St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL VAC	Grade and Pave Lighting	50.33 - 50.33 - 8.91	100.00 100.00	\$5,033.00 \$891.00	30-29-22-42-0110
*850 AGATE ST *Ward: 5	ALLEY ADJ & LOTS 7 & 8 BLK 2	*** Owner and Taxpayo		=	\$5,924.00	
Mai Choua Lee Doua Yang 855 Agate Street	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 1 BLK 3	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0108
St Paul MN 55117-5516 St St AGATE ST Ward: 5		*** Owner and Taxpayo	er ***		\$2,962.00	
Gilbert G Sanchez Grace L Sanchez	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL N 100 FT OF	Grade and Pave Lighting	50.33 8.91		\$5,033.00 \$891.00	30-29-22-42-0097
7780 Military Rd Woodbury MN 55129-9523 *889 AGATE ST *Ward: 5	LOTS 1 AND LOT 2 & ALL OF LOT 3 BLK 6	*** Owner and Taxpayo		=	\$5,924.00	
oseph W Schmidt Diane Schmidt	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL N 50 FT OF	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0094
5534 Hokah Dr Lino Lakes MN 55014-1343	LOTS I AND LOT 2 BLK 3	*** Owner and Taxpayo	er ***	=	\$2,962.00	

\*923 AGATE ST

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page 18
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Joua Vang Moua Pa Lo Moua	ELBRA DIVISION LOT 26 BLK 2	Grade and Pave Lighting		50.33	43.00	\$2,164.19 \$383.13	30-29-22-13-0109
963 Agate St Saint Paul MN 55117-5031 *963 AGATE ST *Ward: 5		*** Owner and Taxp	ayer ***			\$2,547.32	
Modernistic Die Cutting Inc 1987 Industrial Blvd S Stillwater MN 55082-6049	ELBRA DIVISION W 1/2 OF VAC ALLEY ACCRUING & FOL A 15 FT TRACT OF LAND LYING BETWEEN	Grade and Pave Lighting		50.33 8.91	110.00 110.00	\$5,536.30 \$980.10	30-29-22-13-0086
*974 AGATE ST *Ward: 5	LOTS 8 & 9 BLK 1 & ALL OF LOTS 6 THRU LOT 10 BLK 1 LOT 10 BLK 1	*** Owner and Taxpa	ayer ***			\$6,516.40	
David A Trepanier	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 10	Grade and Pave Lighting		50.33 8.91	- — <del>68</del> .00 68.00	\$3,422.44 \$605.88	30-29-22-43-0061
Patricia A Trepanier Trustee 439 Birchwood Courts White Bear Lake MN 55110-1805 *771 BUFFALO ST *Ward: 5	BLK 5	*** Owner and Taxp	ayer ***	0.71		\$4,028.32	
Than Win Kimberly Karen Win	ELBRA DIVISION LOT 17 BLK 2	Grade and Pave Lighting		50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0100
111 Case Ave Saint Paul MN 55117-5048 *111 CASE AVE *Ward: 5		*** Owner and Taxp	ayer ***		•	\$2,369.60	
Terry Buchanan 5174 Lexington Ave N Saint Paul MN 55126-1358	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL EX W 75 FT; LOTS 8 & LOT 9 BLK 2	Grade and Pave Lighting		50.33	74.00 74.00	\$3,724.42 \$659.34 \$4,383.76	30-29-22-42-0007
*112 CASE AVE		*** Owner and Taxpa	ayer ***			\$4,383.70	

Public Improvement Assessment Re	oll by Address  Ratification Date:	Project: 19138 Assi Resolution #:	nt: 135202	Manager: LM	Page 1
<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
ELBRA DIVISION LOT 18 BLK 2	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0101
	*** Owner and Taxpa	yer ***	•	\$2,369.60	
ELBRA DIVISION LOT 19 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0102
			40.00 :	\$2,369.60	
EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 2	Grade and Pave Lighting  *** Owner and Taxpa	50.33 8.91 yer ***	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0006
EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 2	Grade and Pave Lighting  *** Owner and Taxpa	50.33 8.91 yer ***	50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0005
ELBRA DIVISION LOT 20 BLK 2	Grade and Pave Lighting	50.33	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-13-0103
	ELBRA DIVISION LOT 18 BLK 2  ELBRA DIVISION LOT 19 BLK 2  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 2  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 2	ELBRA DIVISION LOT 18 BLK 2 Grade and Pave Lighting  *** Owner and Taxpa  ELBRA DIVISION LOT 19 BLK 2 Grade and Pave Lighting  *** Owner and Taxpa  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 2 Lighting  *** Owner and Taxpa  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 2 Lighting  *** Owner and Taxpa  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 6 BLK 2 Grade and Pave Lighting  *** Owner and Taxpa	Ratification Date: Resolution #:    Property Description   Item Description   Unit Rate	Property Description   Item Description   Unit Rate   Ouantity	Property Description   Item Description   Unit Rate   Quantity   Charge Amts

Property Description					
	Item Description	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0004
	*** Owner ***				
EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2	*** Taxpayer ***				30-29-22-42-0004
ELBRA DIVISION LOT 21 BLK 2	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0104
	*** Owner ***		=	\$2,369.60	
ELBRA DIVISION LOT 21 BLK 2	*** Taxpayer ***				30-29-22-13-0104
ELBRA DIVISION EX E 4 FT; LOT 22 BLOCK 2	Grade and Pave Lighting	50.33 8.91	36.00 36.00	\$1,811.88 \$320.76	30-29-22-13-0133
	*** Owner and Taxpayer	***		⊕2,1 <i>3</i> 2.0 <del>1</del>	
EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2	Grade and Pave Lighting		50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0003
	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2  ELBRA DIVISION LOT 21 BLK 2  ELBRA DIVISION LOT 21 BLK 2  ELBRA DIVISION EX E 4 FT; LOT 22 BLOCK 2	#** Owner ***  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2  ELBRA DIVISION LOT 21 BLK 2  Grade and Pave Lighting  *** Taxpayer ***  ELBRA DIVISION LOT 21 BLK 2  *** Taxpayer ***  ELBRA DIVISION EX E 4 FT; LOT 22  BLOCK 2  Grade and Pave Lighting  *** Owner and Taxpayer  EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2  Lighting	*** Owner ***  EDMUND RICES THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2  ELBRA DIVISION LOT 21 BLK 2  Grade and Pave 50.33 Lighting 8.91  *** Owner ***  ELBRA DIVISION LOT 21 BLK 2  *** Taxpayer ***  ELBRA DIVISION LOT 21 BLK 2  *** Taxpayer ***  ELBRA DIVISION EX E 4 FT; LOT 22 Grade and Pave Lighting 8.91  *** Owner and Taxpayer ***	#** Owner ***  EDMIND RICES THIRD ADDITION TO THE CITY OF ST. PAUL LOT 5 BLK 2  ELBRA DIVISION LOT 21 BLK 2  Grade and Pave	##* Owner ***  ELBRA DIVISION LOT 21 BLK 2  Grade and Pave Lighting  *** Taxpayer ***  ELBRA DIVISION LOT 21 BLK 2  Grade and Pave Lighting  *** Owner ***  ELBRA DIVISION LOT 21 BLK 2  FLBRA DIVISION LOT 21 BLK 2  FLBRA DIVISION LOT 21 BLK 2  *** Owner ***  ELBRA DIVISION LOT 21 BLK 2  *** Taxpayer ***  ELBRA DIVISION EX E 4 FT. LOT 22 BLOCK 2  ELBRA DIVISION EX E 4 FT. LOT 22 Lighting  *** Owner and Taxpayer ***  EDMUND RICES THRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2  EDMUND RICES THRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2  EDMUND RICES THRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2  Lighting  *** Owner and Pave Lighting  EDMUND RICES THRD ADDITION TO THE CITY OF ST. PAUL LOT 4 BLK 2  Lighting  S.2, 516. 50 S.2, 962.00

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Soua Moua 461 Brainerd Ave	ELBRA DIVISION THE E 4 FT OF LOT 22 & ALL OF LOT 23 ALL IN BLOCK 2	Grade and Pave Lighting	50.33 8.91	44.00 44.00	\$2,214.52 \$392.04	30-29-22-13-0134
Saint Paul MN 55130-3511 *137 CASE AVE *Ward: 5		*** Owner and Taxpaye	т ***		\$2,606.56	
Michael Eyerly 676 Heinel Dr Roseville MN 55113-2104	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 2	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0002
*140 CASE AVE *Ward: 5		*** Owner and Taxpaye	.t. ***		Ψ2,702.00	
Lori Kustritz 821 Summit Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOTS I & LOT 2 BLK 2	Grade and Pave Lighting	50.33	100.00 100.00	\$5,033.00 \$891.00	30-29-22-42-0001
Saint Paul MN 55105-3355 *150 CASE AVE *Ward: 5	222. 2	*** Owner and Taxpayer ***			\$5,924.00	
City Of St Paul	SOO LINE PLAT NUMBER 5 VAC STS ACCRUING & FOL. EX ELY 100 FT RY	Grade and Pave	50.33	60.00	\$3,019.80	30-29-22-13-0124
25 4th St W Rm 1000 St Paul MN 55102-1692 * COOK AVE E *Ward: 5	R/W; PART LYING N OF NL OF LAWSON ST OF LOT A	Lighting  *** Owner and Taxpaye	8.91 r ***	60.00	\$534.60 \$3,554.40	***EXEMPT***
— — — — — — — — — — — — — — — — — — —	VIRGILIA DIVISION EX S 1 FT LOT 11 BLK 2	Grade and Pave Lighting	50.33	42.00 42.00	\$2,113.86 \$374.22	30-29-22-13-0048
St Paul MN 55117-5051 *106 COOK AVE E		*** Owner and Taxpaye	r ***	:	\$2,488.08	

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Assn Resolution #:	•		Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Hsbc Bank Usa N A	WHITTIER DIVISION LOT 17 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0024	
661 Worthington Rd Ste 100		Lighting	8.91	40.00	\$356.40		
West Palm Beach FL 33409-6493		*** 0 1.T	***	_	\$2,369.60		
111 COOK AVE E Ward: 5		*** Owner and Taxpay	er ***				
waiu. 3							
	VIRGILIA DIVISION LOT 10 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0047	
orelee A Sathre		Lighting	8.91	40.00	\$356.40		
12 Cook Ave E				-	\$2,369.60		
t Paul MN 55117-5051		*** Owner and Taxpay	er ***				
112 COOK AVE E							
Ward: 5							
	WHITTIER DIVISION LOT 18 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0025	
15 Cook Ave E		Lighting	8.91	40.00	\$356.40		
t Paul MN 55117-5050				_	\$2,369.60		
1115 COOK AVE E Ward: 5		*** Owner and Taxpay	er ***				
tephen R Huberty	WHITTIER DIVISION LOT 19 BLK 2				\$2,013.20	30-29-22-13-0026	
19 Cook Ave E		Lighting	8.91	40.00	\$356.40	30-27-22-13-0020	
t Paul MN 55117-5050				=	\$2,369.60		
119 COOK AVE E		*** Owner and Taxpay	er ***				
Ward: 5							
	VIRGILIA DIVISION LOT 8 & LOT 9	Grade and Pave		80.00	\$4,026.40	30-29-22-13-0127	
laryann I Fisher	BLK 2	Lighting	8.91	80.00	\$712.80		
20 Cook Ave E				_	\$4,739.20		
t Paul MN 55117-5051		*** Owner and Taxpay	er ***				

\*120 COOK AVE E

\*Ward: 5

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

5:09:49 12/21/2012	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19138 Assr Resolution #:	nt: 135202	Manager: LM	Page 2	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Laura A Hoover	WHITTIER DIVISION LOT 20 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0027	
123 Cook Ave E		Lighting	8.91	40.00	\$356.40		
Saint Paul MN 55117-5050		*** Owner and Taxpay	or ***		\$2,369.60		
*123 COOK AVE E *Ward: 5		Owner and Taxpay	ei · · ·				
Alison M Warford	VIRGILIA DIVISION LOT 7 BLK 2	Grade and Pave			\$2,013.20	30-29-22-13-0044	
124 Cook Ave E		Lighting	8.91	40.00	\$356.40		
St Paul MN 55117-5051				-	\$2,369.60		
* <b>124 COOK AVE E</b> *Ward: 5		*** Owner and Taxpay	er ***				
Karen Marie Wegner	WHITTIER DIVISION LOT 21 BLK 2	Grade and Pave		40.00	\$2,013.20	30-29-22-13-0028	
Levi Carl Wegner		Lighting	8.91	40.00	\$356.40		
27 Cook Ave E St Paul MN 55117-5050		*** Owner and Taxpay	***		\$2,369.60		
*127 COOK AVE E *Ward: 5		owner and Taxpay	er ***				
	VIRGILIA DIVISION LOT 6 BLK 2			40.00	\$2,013.20	30-29-22-13-0043	
28 Cook Ave E Apt 1		Lighting	8.91	40.00	\$356.40		
Saint Paul MN 55117-5051 F128 COOK AVE E Ward: 5		*** Owner and Taxpay	ег ***		\$2,369.60		
	WHITTIER DIVISION LOT 22 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0029	
33 Cook Ave E Saint Paul MN 55117-5050		Lighting	8.91	40.00	\$356.40		
*133 COOK AVE E		*** Owner and Taxpay	er ***				

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Donald R Rasmussen	VIRGILIA DIVISION LOTS 4 & 5 BLK 2	Grade and Pave	50.33	80.00	\$4,026.40	30-29-22-13-0112
134 Cook Ave E		Lighting	8.91	80.00	\$712.80	
St Paul MN 55117-5051 * <b>134 COOK AVE E</b>		*** Owner and Taxpayo	or ***		\$4,739.20	
*Ward: 5		Owner and Taxpays	vi.			
Patricia M Soggiorno	WHITTIER DIVISION W 10 FT OF LOTS	— — — — — — Grade and Pave		50.00	\$2,516.50	30-29-22-13-0030
137 Cook Ave E	24 25 26 AND ALL OF LOT 23 BLK 2 L	Lighting	8.91	50.00	\$445.50	
St Paul MN 55117-5050 *137 COOK AVE E *Ward: 5		*** Owner and Taxpaye	er ***	-	\$2,962.00	
Lay Taw Du Esther Naw 142 Cook Ave E St Paul MN 55117-5051	VIRGILIA DIVISION W 51 FT OF LOTS 1 AND 2 BLK 2	Grade and Pave Lighting  *** Owner and Taxpayo	50.33 - 50.33 - 8.91	51.00 51.00	\$2,566.83 \$454.41 \$3,021.24	30-29-22-13-0116
*142 COOK AVE E *Ward: 5						
ohn Michelsen	WHITTIER DIVISION EX W 10 FT LOT 26 BLK 2	Grade and Pave	50.33	43.00	\$2,164.19	30-29-22-13-0033
095 Midlothian Rd Roseville MN 55113-5643		Lighting	8.91	43.00	\$383.13 \$2,547.32	
F147 COOK AVE E  Ward: 5		*** Owner and Taxpayo	er ***		\$2,347.32	
Arnulfo Mendoza  148 Cook Ave E	VIRGILIA DIVISION EX W 51 FT; LOTS 1 AND 2 BLK 2	Grade and Pave Lighting	50.33 - 50.33 - 8.91	59.00 59.00	\$2,969.47 \$525.69	30-29-22-13-0117
St Paul MN 55117-5051  *148 COOK AVE E		*** Owner and Taxpayo		=	\$3,495.16	

5:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
James T Javner	WHITTIER DIVISION LOT 12 BLK 1	Grade and Pave	50.33	38.00	\$1,912.54	30-29-22-13-0008	
Cinda L Javner		Lighting	8.91	38.00	\$338.58		
61 Cook Ave E				•	\$2,251.12		
St Paul MN 55117-5052		*** Owner and Taxpayer	r ***				
*161 COOK AVE E *Ward: 5							
Sidney A Nelson	WHITTIER DIVISION LOT 13 BLK 1	Grade and Pave	50.33	38.00	\$1,912.54	30-29-22-13-0009	
700 Hillcrest Ave		Lighting	8.91	38.00	\$338.58		
St Paul MN 55116-2111				-	\$2,251.12		
167 COOK AVE E		*** Owner and Taxpayer	r ***				
*Ward: 5							
	VIRGILIA DIVISION LOTS 3 4 AND				\$5,737.62	30-29-22-13-0035	
68 Cook Ave E	LOT 5 BLK 1	Lighting	8.91	114.00	\$1,015.74	00 29 22 10 0000	
St Paul MN 55117-5053				=	\$6,753.36		
*168 COOK AVE E *Ward: 5		*** Owner and Taxpayer	r ***				
Robert L Childrey	WHITTIER DIVISION LOT 14 BLK 1	Grade and Pave	50.33	38.00	\$1,912.54	30-29-22-13-0010	
73 Cook Ave E		Lighting	8.91	38.00	\$338.58		
t Paul MN 55117-5052				-	\$2,251.12		
173 COOK AVE E		*** Owner and Taxpayer	r ***				
Ward: 5							
	DRAKE'S 2ND ADDITION TO ST.	Grade and Pave	50.33	38.00	\$1,912.54	30-29-22-34-0037	
00 Broadway N Unit 305 Gargo ND 58102-4723	PAUL, MINN. LOT 6 BLK 2	Lighting	8.91	38.00	\$338.58 \$2,251.12		
*779 CORTLAND PL		*** Owner and Taxpayer	r ***		Ψ <u>ω</u> , <u>ω</u> υ 1.12		

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address  Ratification Date:	Project: 19138 Resolution #:	Assmt: 13520	2	Manager: LM	Page 26
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit R</u>	ate Qua	<u>ntity</u>	Charge Amts	<b>Property ID</b>
Renee Woodbeck 150 Granite St	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL N 75 FT OF LOT 1 BLK 4	Grade and Pave Lighting	50		0.00	\$2,516.50 \$445.50	30-29-22-43-0026
St Paul MN 55117-5530	201 I BERT				_	\$2,962.00	
*150 GRANITE ST *Ward: 5		*** Owner and Taxpay	er ***/				
Anthony R Kirchoff	EDMUND RICE'S SECOND ADDITION				8.00		30-29-22-43-0015
153 Granite St	TO THE CITY OF ST. PAUL SUBJ TO & WITH ESMTS & EX E 112.5 FT; LOTS 10	Lighting	8	.91 3	8.00	\$338.58	
St Paul MN 55117-5532  *153 GRANITE ST  *Ward: 5	THRU LOT 13 BLK 2	*** Owner and Taxpay	/er ***			\$2,251.12	
Sec Of Hsg And Urban Dev Of Wash Dc 4400 Will Rogers Pkwy Ste 300	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL SWLY 48.5 FT OF NWLY 50.33 FT OF LOT 3 &	Grade and Pave Lighting			8.00 8.00	\$2,415.84 \$427.68	30-29-22-43-0052
Oklahoma City OK 73108-1870 *156 GRANITE ST *Ward: 5	SWLY 48.5 FT OF LOT 2 BLK 5	*** Owner and Taxpay	/er ***		_	\$2,843.52	
	Ex E 9.5 Ft; Lots 11 & 12 Blk 2 And All Of Lot 13 Blk 2	Grade and Pave			0.00	\$5,033.00	30-29-22-13-0140
1016 Jackson St St Paul MN 55117-5056 *1016 JACKSON ST	OI LOUIS BIX 2	Lighting  *** Owner and Taxpay		.91 10	0.00	\$891.00 \$5,924.00	
*Ward: 5		Owner and Taxpay	y C i				
Ricky W Smock	WHITTIER DIVISION LOT 16 BLK 2	Grade and Pave Lighting			3.00 3.00	\$2,164.19 \$383.13	30-29-22-13-0023
Kathryn J Smock 1052 Jackson St St Paul MN 55117-5058		*** Owner and Taxpay		.71 4	j.00 <b>=</b>	\$2,547.32	

\*1052 JACKSON ST

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Hoovers Pub Llc 755 Jackson St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 1,2 & 24 BLK 3	Grade and Pave Lighting		50.33	207.00 207.00	\$10,418.31 \$1,844.37	30-29-22-34-0086
St Paul MN 55117-5536 *755 JACKSON ST *Ward: 5		*** Owner and Taxp	ayer ***		•	\$12,262.68	
African Christian Fellowship Of Minnesota Inc 756 Jackson St Saint Paul MN 55117-5535 *756 JACKSON ST *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX E 43 FT LOT 16 BLK 2	Grade and Pave Lighting  *** Taxpayer ***		50.33	36.00	\$1,811.88 \$320.76 \$2,132.64	30-29-22-34-0048
Sunday A Olayinka Olayinka 10410 Stony Creek Dr Woodbury MN 55129-4808 *756 JACKSON ST *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX E 43 FT LOT 16 BLK 2	*** Owner ***					30-29-22-34-0048
African Christian Fellowship Of Minnesota Inc 756 Jackson St Saint Paul MN 55117-5535 *764 JACKSON ST *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 14 BLK 2	Grade and Pave Lighting  *** Taxpayer ***		50.33	36.00 36.00	\$1,811.88 \$320.76 \$2,132.64	30-29-22-34-0046
Sunday A Olayinka Olayinka 10410 Stony Creek Dr Woodbury MN 55129-4808 *764 JACKSON ST	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 14 BLK 2	*** Owner ***					30-29-22-34-0046

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Resolution #:	Assmt	: 135202	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	t Rate	Quantity	Charge Amts	Property ID
Bremer Bank National Assn 372 St Peter St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 3 AND LOT 4 BLK	Grade and Pave Lighting		50.33 8.91	72.00 72.00	\$3,623.76 \$641.52	30-29-22-34-0018
St Paul MN 55102-1302	3	5 - 5			:	\$4,265.28	
*765 JACKSON ST *Ward: 5		*** Owner and Taxpa	yer ***			,,	
	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 13 BLK 2	Grade and Pave Lighting		50.33 8.91	36.00 36.00	\$1,811.88 \$320.76	30-29-22-34-0045
766 Jackson St		Lighting		0.71	30.00	\$2,132.64	
St Paul MN 55117-5535		*** Owner and Taxpa	yer ***			\$2,132.04	
*766 JACKSON ST							
*Ward: 5							
Bremer Bank National Assn	DRAKE'S 2ND ADDITION TO ST.	Grade and Pave		50.33	36.00	\$1,811.88	30-29-22-34-0019
372 St Peter St	PAUL, MINN. LOT 5 BLK 3	Lighting		8.91	36.00	\$320.76	
St Paul MN 55102-1302		*** 0 1.5	ماد ماد ماد		•	\$2,132.64	
*769 JACKSON ST *Ward: 5		*** Owner and Taxpa	yer ***				
	DRAKE'S 2ND ADDITION TO ST.			50.33	36.00		30-29-22-34-0044
708 Cleveland Ave Sw Unit 160	PAUL, MINN. LOT 12 BLK 2	Lighting		8.91	36.00	\$320.76	30-27-22-34-0044
New Brighton MN 55112-3550					:	\$2,132.64	
*772 JACKSON ST		*** Owner and Taxpa	yer ***				
*Ward: 5							
Bremer Bank National Assn	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN, LOT 6 BLK 3	Grade and Pave		50.33	37.00	\$1,862.21	30-29-22-34-0020
372 St Peter St	TAGE, WHIM. EQT OBER 3	Lighting		8.91	37.00	\$329.67	
St Paul MN 55102-1302 *777 JACKSON ST		*** Owner and Taxpa	yer ***			\$2,191.88	

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
State Of Mn Trust Exempt P0 Box 64097	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 11 BLK 2	Grade and Pave Lighting		50.33	38.00 38.00	\$1,912.54 \$338.58	30-29-22-34-0043
St Paul MN 55164-0097 * <b>780 JACKSON ST</b> *Ward: 5		*** Owner and Taxpay	/er ***			\$2,251.12	
	Apartment wrecked in 2008??  Tax forfeit Residential short side applied JO/LM						
William J Kachel	EDMUND RICE'S THIRD ADDITION TO	Grade and Pave		50.33	37.00	\$1,862.21	30-29-22-42-0057
William J Kachel Sr	THE CITY OF ST. PAUL E 1/2 OF W 1/2 OF LOT 8 & W 3/4 OF LOT 9 BLK 6	Lighting		8.91	37.00	\$329.67	
884 Jackson St Apt 1 St Paul MN 55117-5541 *884 JACKSON ST *Ward: 5		*** Owner and Taxpay	ver ***			\$2,191.88	
Luches Hamilton	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL EX E 50 FT	Grade and Pave Lighting		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0037
Po Box 600335 Saint Paul MN 55106-0006 *894 JACKSON ST	LOT 13 BLK 3	*** Owner and Taxpay	/er ***	6.91	30.00	\$2,962.00	
*Ward: 5  Oakland Cemetery Assn 927 Jackson St St Paul MN 55117-5076	OAKLAND CEMETERY VAC STS & ALLEYS ADJ & BLKS 1 & 2 DICKERMAN'S ADD; & IN SD OAKLAND CEMETARY; ENTIRE	Grade and Pave Lighting		50.33	1,285.00 1,285.00	\$64,674.05 \$11,449.35 \$76,123.40	30-29-22-31-0002 ***EXEMPT***
*927 JACKSON ST *Ward: 5	PLATS	*** Owner and Taxpay	/er ***			\$\tau_1,1_2\tau_1	
Ann M Schoenrock 928 Jackson St	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL EX E 50 FT LOTS 12 AND LOT 13 BLK 2	Grade and Pave Lighting		50.33 8.91	99.00 99.00	\$4,982.67 \$882.09	30-29-22-42-0011
Saint Paul MN 55117-5054 *928 JACKSON ST		*** Owner and Taxpay	/er ***			\$5,864.76	

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Un	iit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Edwin Sorenson Sandra Nesseth	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL W 75 FT OF LOTS 8 & LOT 9 BLK 2	Grade and Pave Lighting		50.33	75.00 75.00	\$3,774.75 \$668.25	30-29-22-42-0008
353 Roselawn Ave E Saint Paul MN 55117-2032  *956 JACKSON ST  *Ward: 5		*** Owner and Taxpa	yer ***			\$4,443.00	
Judith A Cloutier 962 Jackson St	ELBRA DIVISION LOT 16 BLK 2	Grade and Pave Lighting		50.33 8.91	<del>43</del> .00 43.00	\$2,164.19 \$383.13	30-29-22-13-0099
St Paul MN 55117-5055 *962 JACKSON ST *Ward: 5		*** Owner and Taxpa	yer ***		:	\$2,547.32	
Gabriel P Emerson  996 Jackson St	DEER PARK DIVISION LOTS 14 15 AND LOT 16 BLK 2	Grade and Pave Lighting		50.33	110.00 110.00	\$5,536.30 \$980.10	30-29-22-13-0074
Saint Paul MN 55117-5056 *996 JACKSON ST *Ward: 5		*** Owner and Taxpa	yer ***		:	\$6,516.40	
Donna M Mans 104 Jenks Ave E	ELBRA DIVISION EX S 40 FT LOT 12 AND ALL OF LOT 11 BLK 2	Grade and Pave Lighting		50.33 8.91	<del>45</del> .00 45.00	\$2,264.85 \$400.95	30-29-22-13-0094
St Paul MN 55117-5060 *104 JENKS AVE *Ward: 5		*** Owner and Taxpa	yer ***	0.51	:	\$2,665.80	
Mary Ann B Niles 111 Jenks Ave	DEER PARK DIVISION LOT 17 BLK 2	Grade and Pave Lighting		50.33 8.91	<del>4</del> 0.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0075
St Paul MN 55117-5059 *111 JENKS AVE *Ward: 5		*** Taxpayer ***			:	\$2,369.60	
Paula M Niles 111 Jenks Ave St Paul MN 55117-5059 *111 JENKS AVE	DEER PARK DIVISION LOT 17 BLK 2	*** Owner ***				- — — — —	30-29-22-13-0075

Public Improvement Assessment Roll by Address Ratification Date:		oject: 19138 Assm solution #:	t: 135202	Manager: LM	Page	
<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
ELBRA DIVISION LOT 10 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20	30-29-22-13-0093	
	Lighting	8.91	40.00	\$356.40		
	*** Owner and Taxpayer ***	·	-	\$2,369.60		
DEER PARK DIVISION LOT 18 BLK 2	Grade and Pave		40.00	\$2,013.20	30-29-22-13-0076	
	Lighting	8.91	40.00			
	*** Owner and Taxpayer ***	٠		\$2,369.60		
ELBRA DIVISION LOTS 8 AND LOT 9	Grade and Pave	50.33	80.00	\$4,026.40	30-29-22-13-0092	
BLK 2	Lighting	8.91	80.00			
	*** Owner and Taxpayer ***	٠		\$4,739.20		
DEER PARK DIVISION LOT 19 BLK 2	Grade and Pave	50.33	40.00	\$2,013.20 \$356.40	30-29-22-13-0077	
			=	\$2,369.60		
	DEER PARK DIVISION LOT 18 BLK 2  ELBRA DIVISION LOTS 8 AND LOT 9 BLK 2	Lighting  **** Owner and Taxpayer ***  DEER PARK DIVISION LOT 18 BLK 2 Grade and Pave Lighting  **** Owner and Taxpayer ***  ELBRA DIVISION LOTS 8 AND LOT 9 BLK 2 Grade and Pave Lighting  **** Owner and Taxpayer ***  DEER PARK DIVISION LOT 19 BLK 2 Grade and Pave Lighting	Lighting 8.91  *** Owner and Taxpayer ***  DEER PARK DIVISION LOT 18 BLK 2 Grade and Pave 50.33  Lighting 8.91  *** Owner and Taxpayer ***  ELBRA DIVISION LOTS 8 AND LOT 9 Grade and Pave 50.33  BLK 2 Lighting 8.91  *** Owner and Taxpayer ***  DEER PARK DIVISION LOT 19 BLK 2 Grade and Pave 50.33	Lighting   8.91   40.00	Lighting   8.91   40.00   \$3356.40	

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page 32
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Vidal Vazquez Cleotilde Vasquez	DEER PARK DIVISION LOT 20 BLK 2	Grade and Pave Lighting	50.33 8.91	40.00	\$2,013.20 \$356.40	30-29-22-13-0078
125 Jenks Ave St Paul MN 55117-5059 *125 JENKS AVE *Ward: 5		*** Owner and Taxpaye	r ***	•	\$2,369.60	
James M Cranston Deborah A Hagert 129 Jenks Ave	DEER PARK DIVISION LOT 21 BLK 2	— Grade and Pave Lighting	50.33	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-13-0079
St Paul MN 55117-5059 *129 JENKS AVE *Ward: 5		*** Owner and Taxpaye	L ***			
Jeremiah B Beaumia 14021 Whiterock Rd Burnsville MN 55337-4733 *132 JENKS AVE *Ward: 5	ELBRA DIVISION LOT 5 BLK 2	Grade and Pave Lighting  *** Owner ***	50.33	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-13-0111
Leona Pliego 132 Jenks Ave St Paul MN 55117-5060 *132 JENKS AVE *Ward: 5	ELBRA DIVISION LOT 5 BLK 2	*** Taxpayer ***	- — — — — -			30-29-22-13-0111
Gregory P Vanselow 133 Jenks Ave St Paul MN 55117-5059 *133 JENKS AVE	DEER PARK DIVISION LOT 22 BLK 2	Grade and Pave Lighting  *** Owner and Taxpaye	50.33 8.91	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-13-0080

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assmt: 13	5202	Manager: LM	Pag
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit R</u>	ate Q	<u>uantity</u>	Charge Amts	Property ID
Bankers Trust Of Ca Trustee 5280 Corporate Dr Ste 1024	ELBRA DIVISION LOT 4 BLK 2	Grade and Pave Lighting		.33	40.00	\$2,013.20 \$356.40	30-29-22-13-0110
Frederick MD 21703-8351 *136 JENKS AVE *Ward: 5		*** Owner ***			=	\$2,369.60	
Steven J Grilz 136 Jenks Ave St Paul MN 55117-5060 *136 JENKS AVE *Ward: 5	ELBRA DIVISION LOT 4 BLK 2	*** Taxpayer ***					30-29-22-13-0110
Martha Onye Israel 137 Jenk Ave	DEER PARK DIVISION LOT 23 BLK 2	Grade and Pave Lighting		.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0081
St Paul MN 55117-5059 *137 JENKS AVE *Ward: 5		*** Owner and Taxpay	er ***		Ξ	\$2,369.60	
	ELBRA DIVISION LOT 1 BLK 2	Grade and Pave Lighting		.33	43.00 43.00	\$2,164.19 \$383.13	30-29-22-13-0088
Virginia Beach VA 23456-9571 *140 JENKS AVE *Ward: 5		*** Owner and Taxpay			=	\$2,547.32	
	DEER PARK DIVISION W 1/2 OF LOTS 24 25 AND LOT 26 BLK 2	Grade and Pave Lighting			55.00 55.00	\$2,768.15 \$490.05	30-29-22-13-0082
*143 JENKS AVE  *Ward: 5		*** Owner and Taxpay		.,,1	=	\$3,258.20	
Michael A Olding	DEER PARK DIVISION E 1/2 OF LOTS 24 25 AND LOT 26 BLK 2	Grade and Pave Lighting			55.00 55.00	\$2,768.15 \$490.05	30-29-22-13-0083
Linda J Olding 147 Jenks Ave St Paul MN 55117-5059		*** Owner and Taxpay		.71	33.00	\$3,258.20	

\*147 JENKS AVE

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assmt	: 135202	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit R</u>	<u>late</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Modernistic Die Cutting 1987 Industrial Blvd S	DEER PARK DIVISION EX LOT 9 AND EX W 1/2 OF VAC ALLEY ADJ SD LOT 9 VAC ALLEY IN AND BLK 1	Grade and Pave Lighting		0.33 3.91	234.00 234.00	\$11,777.22 \$2,084.94	30-29-22-13-0062
*169 JENKS AVE *Ward: 5		*** Owner and Taxpay	yer ***			\$13,862.16	
Modernistic Die Cutting Inc 1987 Industrial Blvd S Stillwater MN 55082-6049 *175 JENKS AVE	SOO LINE PLAT NUMBER 5 VAC STS ACCRUING & FOL; THE W 95.8 FT LYING S OF EXT N L OF LAWSON ST & N OF EX S L OF JENKS ST OF LOT A	Grade and Pave Lighting  *** Owner and Taxpay	8	0.33 3.91	60.00	\$3,019.80 \$534.60 \$3,554.40	30-29-22-13-0122
*Ward: 5	S 1/2 Of Jessamine Ave Vac Adj And Lot	Grade and Pave		0.33	30.00		30-29-22-12-0044
25 4th St W Rm 1000 St Paul MN 55102-1692 *190 JESSAMINE AVE	S 1/2 Of Jessamine Ave Vac Adj And Lot K	Lighting  *** Owner and Taxpay	8	8.91		\$267.30 \$1,777.20	***EXEMPT***
*Ward: 5  Tia Lee Ying Moua Kue	RANSOM'S ADDITION TO ST. PAUL A STRIP OF LAND 15 FT WIDE N OF & ADJ LOT 3,4 & LOT 5 BLK 1	Grade and Pave Lighting		0.33	120.00 120.00	\$6,039.60 \$1,069.20	30-29-22-12-0084
152 Jessamine Ave E St Paul MN 55117-5071 *152 JESSAMINE AVE E *Ward: 5	MAGNOLIA DIVISION & LOT L IN SOO LINE PLAT NO.4 & IN SD RANSOM'S ADD THE W 40 FT OF LOTS	*** Owner and Taxpay	yer ***			\$7,108.80	
Jon Philip Douville Bretta Jo Douville 757 L Orient St St Paul MN 55117-5562	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 21 BLK 7	Grade and Pave Lighting  *** Owner and Taxpay	8	0.33	50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-43-0148

\*757 L'ORIENT ST

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Pag	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>	
Peter N Boet 105 Lawson Ave E St Paul MN 55117-5062 *105 LAWSON AVE E *Ward: 5	VIRGILIA DIVISION E 60 FT OF FOL LOTS 15 AND LOT 16 BLK 2	Grade and Pave Lighting	50.33 8.91	60.00 60.00	\$3,019.80 \$534.60	30-29-22-13-0053	
		*** Owner and Taxpay	/er ***		\$3,554.40		
Osman Fofanah Fatmeh Fofanah	VIRGILIA DIVISION LOT 17 BLK 2	Grade and Pave Lighting	50.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0054	
111 Lawson Ave E St Paul MN 55117-5062 *111 LAWSON AVE E		*** Owner and Taxpay		:	\$2,369.60		
*Ward: 5							
Forrest R Russell 1995 Robin Ln S	DEER PARK DIVISION E 9 50/100 FT OF LOTS 11 AND 12 AND ALL OF LOT	Grade and Pave Lighting		50.00 50.00	\$2,516.50 \$445.50	30-29-22-13-0071	
Centerville MN 55038-9769 *112 LAWSON AVE E	10 BLK 2	*** Owner and Taxpay		:	\$2,962.00		
*Ward: 5							
Ryan M Mcalister	DEER PARK DIVISION LOT 9 BLK 2	Grade and Pave	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0070	
15112 Lever St Ne Ham Lake MN 55304-6521 *116 LAWSON AVE E		Lighting  *** Owner and Taxpay		40.00	\$2,369.60		
*Ward: 5		Owner and Taxpay	CI ···				
Cross Family Real Estate Holdings Llc	VIRGILIA DIVISION LOTS 18 AND LOT 19 BLK 2	Grade and Pave Lighting		80.00 80.00	\$4,026.40 \$712.80	30-29-22-13-0055	
1010 Mount Curve Ave Minneapolis MN 55403-1125 *119 LAWSON AVE E		*** Owner and Taxpay		60.00	\$4,739.20		

15:09:49 12/21/2012	Public Improvement Assessment R	coll by Address  Ratification Date:	Project: 19138 Resolution #:	Assmt:	135202	Manager: LM	Page 3	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit R</u>	<u>Rate</u>	<b>Quantity</b>	Charge Amts	Property ID	
	DEER PARK DIVISION LOT 8 BLK 2	Grade and Pave		0.33	40.00	\$2,013.20	30-29-22-13-0069	
Xao L Her		Lighting	8	3.91	40.00	\$356.40		
6591 Lower 12th St N					_	\$2,369.60		
Oakdale MN 55128-5848		*** Owner and Taxpay	er ***					
*120 LAWSON AVE E *Ward: 5								
	VIRGILIA DIVISION LOT 20 BLK 2	Grade and Pave		<del></del>		\$2,013.20	30-29-22-13-0128	
123 Lawson Ave E		Lighting	8	3.91	40.00	\$356.40		
St Paul MN 55117-5062					=	\$2,369.60		
*123 LAWSON AVE E *Ward: 5		*** Owner and Taxpay	er ***					
	DEER PARK DIVISION LOT 7 BLK 2	Grade and Pave		0.33	<del></del>	\$2,013.20	30-29-22-13-0068	
14 Maryland Ave E		Lighting	8	3.91	40.00	\$356.40		
Saint Paul MN 55117-4609		*** O 1.T	ماد ماد		_	\$2,369.60		
*124 LAWSON AVE E *Ward: 5		*** Owner and Taxpay	er ***					
	VIRGILIA DIVISION LOT 21 BLK 2	Grade and Pave		<del></del>	40.00	\$2,013.20	30-29-22-13-0129	
4917 89th Cres N		Lighting	8	3.91	40.00	\$356.40		
Minneapolis MN 55443-3969 *127 LAWSON AVE E *Ward: 5		*** Owner and Taxpay	er ***			\$2,369.60		
	DEER PARK DIVISION LOT 6 BLK 2			<del></del>		\$2,013.20	30-29-22-13-0067	
130 Lawson Ave		Lighting	8	3.91	40.00	\$356.40	· · · · · · · · · · · · · ·	
St Paul MN 55117-5063					=	\$2,369.60		
*130 LAWSON AVE E		*** Owner and Taxpay	er ***					

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	t Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Mai Yang 131 Lawson St	VIRGILIA DIVISION SUBJ TO ESMTS LOT 22 BLK 2	Grade and Pave Lighting		50.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0057
*131 LAWSON AVE E *Ward: 5		*** Owner and Taxpa	yer ***			\$2,369.60	
Michael A Paul Jill E Paul	DEER PARK DIVISION LOT 5 BLK 2	Grade and Pave Lighting		50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-13-0066
132 Lawson Ave E St Paul MN 55117-5063		*** Owner and Taxpa	yer ***	0.91	40.00	\$2,369.60	
*132 LAWSON AVE E *Ward: 5							
E Edward Strecker	VIRGILIA DIVISION LOT 23 BLK 2	Grade and Pave		50.33	40.00	\$2,013.20	30-29-22-13-0058
Sara Jane Strecker 329 Savage Ln Little Canada MN 55117-1653 *135 LAWSON AVE E		Lighting  *** Owner and Taxpa	yer ***	8.91	40.00	\$356.40	
*Ward: 5	DEER PARK DIVISION LOT 4 BLK 2	Grade and Pave		50.33	- — <del>4</del> 0.00	\$2,013.20	30-29-22-13-0065
Renae J Patterson 22005 County 84 Browerville MN 56438-4697		Lighting  *** Owner and Taxpa	yer ***	8.91	40.00	\$356.40 \$2,369.60	
*136 LAWSON AVE E *Ward: 5							
Tesfaslassie Bahta 141 Lawson Ave E	VIRGILIA DIVISION W 1/3 OF LOTS 24 25 AND LOT 26 BLK 2	Grade and Pave Lighting		50.33	37.00 37.00	\$1,862.21 \$329.67	30-29-22-13-0059
Saint Paul MN 55117-5062 *141 LAWSON AVE E		*** Owner and Taxpa	yer ***		=	\$2,191.88	

15:09:49 12/21/2012	Public Improvement Assessment R	coll by Address  Ratification Date:	Project: 19138 Ass Resolution #:	smt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Charles T Drake Christina M Drake	VIRGILIA DIVISION E 1/2 OF W 2/3 OF LOTS 24 25 AND LOT 26 BLK 2	Grade and Pave Lighting	50.33 8.91	37.00 37.00	\$1,862.21 \$329.67	30-29-22-13-0060
15360 Painters Ln N Stillwater MN 55082-1640 *145 LAWSON AVE E *Ward: 5		*** Owner and Taxpay	yer ***	•	\$2,191.88	
Marleen M Ziegelmann	VIRGILIA DIVISION E 1/3 OF LOTS 24	Grade and Pave		——————————————————————————————————————	\$1,862.21	30-29-22-13-0061
James L Ziegelmann 147 Lawson Ave E St Paul MN 55117-5062	25 AND LOT 26 BLK 2	Lighting  *** Owner and Taxpay	8.91	37.00	\$329.67 \$2,191.88	
*147 LAWSON AVE E *Ward: 5		Owner and Taxpa	y Ci			
	VIRGILIA DIVISION EX E 60 FT THE FOL LOTS 15 AND LOT 16 BLK 2	Grade and Pave Lighting		50.00 50.00	\$2,516.50 \$445.50	30-29-22-13-0052
*99 Lawson Ave E Saint Paul MN 55117-5062 *99 LAWSON AVE E *Ward: 5		*** Owner and Taxpay		:	\$2,962.00	
Marie Ann Buhn	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 1 THRU LOT 4	Grade and Pave Lighting	50.33	79.00 79.00	\$3,976.07 \$703.89	30-29-22-34-0001
761 Lightner Pl St Paul MN 55117-5543 * <b>761 LIGHTNER PL</b> *Ward: 5	BLK 6	*** Owner and Taxpay		;	\$4,679.96	
762 Lightner Llc	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. S 3 FT OF LOT 16 AND N	Grade and Pave Lighting		33.00 33.00	\$1,660.89 \$294.03	30-29-22-34-0028
8936 Springwood Cir Woodbury MN 55125-4913 * <b>762 LIGHTNER PL</b>	30 FT OF LOT 17 BLK 3	*** Owner and Taxpay		:	\$1,954.92	

15:09:49 12/21/2012	Public Improvement Assessment Re	-	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page 39
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	Charge Amts	Property ID
Asha B Raleigh 1066 Edmund Ave	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX S 3 FT LOT 16 AND ALL OF LOT 15 BLK 3	Grade and Pave Lighting	50.33 8.91	69.00 69.00	\$3,472.77 \$614.79	30-29-22-34-0027
St Paul MN 55104-2626  *764 LIGHTNER PL  *Ward: 5		*** Taxpayer ***			\$4,087.56	
Asha Raleigh 1066 Edmund Ave Saint Paul MN 55104-2626 *764 LIGHTNER PL *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. EX S 3 FT LOT 16 AND ALL OF LOT 15 BLK 3	*** Owner ***				30-29-22-34-0027
Terrance J Santori 773 Lightner Place	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 5 & LOT 6 BLK 6	Grade and Pave Lighting	50.33	72.00 72.00	\$3,623.76 \$641.52	30-29-22-34-0002
Saint Paul MN 55117-5543 *773 LIGHTNER PL *Ward: 5		*** Owner and Taxpayer	***	•	\$4,265.28	
State Of Mn Trust Exempt	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 14 BLK 3	Grade and Pave Lighting	50.33	36.00 36.00	\$1,811.88 \$320.76	30-29-22-34-0026
P0 Box 64097 St Paul MN 55164-0097 *778 LIGHTNER PL *Ward: 5		*** Owner and Taxpayer		30.00	\$2,132.64	***EXEMPT***
Catherine M Schaefer 108 Sims Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 8 BLK 3	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0032
St Paul MN 55117-5546 *108 SIMS AVE *Ward: 5		*** Owner and Taxpayer	***	:	\$2,962.00	
David A Preus 863 Osceola Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL E 50 FT OF	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0012
St Paul MN 55105-3209 *109 SIMS AVE	LOTS 12 AND LOT 13 BLK 2	*** Owner and Taxpayer	***	:	\$2,962.00	

15:09:49 12/21/2012	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page 4	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	Quantity	Charge Amts	<b>Property ID</b>	
Karen Juneau 116 Sims Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL W 25 FT OF LOT 7 BLK 3	Grade and Pave Lighting	50.33	25.00 25.00	\$1,258.25 \$222.75	30-29-22-42-0031	
St Paul MN 55117-5546 *116 SIMS AVE *Ward: 5		*** Owner and Taxpaye	r ***		\$1,481.00		
Mary Ellen Monita 117 Sims Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 14 BLK 2	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0013	
St Paul MN 55117-5545 *117 SIMS AVE *Ward: 5		*** Owner and Taxpaye	r ***	•	\$2,962.00		
Irene C Spiegelberg Keith A Spiegelberg	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL W 15 FT OF	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-42-0030	
118 Sims Ave St Paul MN 55117-5546 *118 SIMS AVE *Ward: 5	LOT 6 AND E 25 FT OF LOT 7 BLK 3	*** Owner and Taxpaye	r ***	:	\$2,369.60		
Anthony L Curtis 120 Sims Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL E 35 FT OF LOT 6 BLK 3	Grade and Pave Lighting	50.33	35.00 35.00	\$1,761.55 \$311.85	30-29-22-42-0029	
St Paul MN 55117-5546 *120 SIMS AVE *Ward: 5		*** Owner and Taxpaye	***		\$2,073.40		
David Broenen 505 Cypress Point Drive #278 Mountain View CA 94043-4894	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 15 BLK 2	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0014	
*121 SIMS AVE		*** Owner and Taxpayer	r ***		\$2,902.00		

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Assm Resolution #:	t: 135202	Manager: LM	Page 41
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Herman Capital Partners Iii Llc 3539 Douglas Dr N	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 5 BLK 3	Grade and Pave Lighting	50.33	25.00 25.00	\$1,258.25 \$222.75	30-29-22-42-0028
**Robbinsdale MN 55422-2415  **124 SIMS AVE  **Ward: 5		*** Owner and Taxpay	er ***		\$1,481.00	
Richard J Zika Thomas J Zika 130 Sims Ave E St Paul MN 55117-5546 *130 SIMS AVE *Ward: 5	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 5 & ALL OF LOT 4 BLK 3	Grade and Pave Lighting  *** Owner and Taxpayo	50.33 8.91	75.00 75.00	\$3,774.75 \$668.25 \$4,443.00	30-29-22-42-0027
Mom Haven 14 Lp 1112 Price Ave Columbia SC 29201-1860 *137 SIMS AVE *Ward: 5	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 16 BLK 2	Grade and Pave Lighting  *** Owner and Taxpayo	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0015
Diana M Washington 138 Sims Ave St Paul MN 55117-5546 *138 SIMS AVE *Ward: 5	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 3 BLK 3	Grade and Pave Lighting  *** Owner and Taxpayo	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0026
Gabriel X Larson Elena Fischer 139 Sims Ave St Paul MN 55117-5545	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOTS 17 & LOT 18 BLK 2	Grade and Pave Lighting  *** Owner and Taxpayo	50.33 8.91	100.00	\$5,033.00 \$891.00 \$5,924.00	30-29-22-42-0016

\*139 SIMS AVE

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page 42
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Peter J Szalapski 143 Sims Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL S 3/4 OF LOT 19 BLK 2	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0017
St Paul MN 55117-5545 *143 SIMS AVE *Ward: 5		*** Owner and Taxpay	er ***		\$2,962.00	
Bee Vue 21301 Furman St Ne Wyoming MN 55092-9626	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL S 3/4 OF LOT 20 BLK 2	Grade and Pave Lighting	50.33	50.00 50.00	\$2,516.50 \$445.50 \$2,962.00	30-29-22-42-0018
*147 SIMS AVE *Ward: 5		*** Owner and Taxpay	er ***			
Victor H Sanchez	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 18	Grade and Pave Lighting	50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0046
135 Sycamore St E St Paul MN 55117-5549 *135 SYCAMORE ST E *Ward: 5	BLK 4	*** Owner and Taxpay		30.00	\$2,962.00	
Gregory G Bauer Lois M Bauer	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 19 BLK 4	Grade and Pave Lighting		50.00 50.00	\$2,516.50 \$445.50	30-29-22-43-0047
1297 Van Dyke St St Paul MN 55119-4521 *139 SYCAMORE ST E *Ward: 5		*** Owner and Taxpay	er ***		\$2,962.00	
Emk Holding Co Llc 80 Virginia St Saint Paul MN 55102-2114	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL W 1/2 OF LOT 20 BLK 4	Grade and Pave Lighting	50.33	25.00 25.00	\$1,258.25 \$222.75 \$1,481.00	30-29-22-43-0048
*147 SYCAMORE ST E		*** Owner and Taxpay	er ***		φ1,401.00	

15:09:49 12/21/2012	Public Improvement Assessment R	Roll by Address Ratification Date:	Project: 19138 As Resolution #:	smt: 135202	Manager: LM	Page 43
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Joyce Walker 16 Sycamore St E St Paul MN 55117-5559	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 12 & LOT 13 BLK 3	Grade and Pave Lighting	50.33	37.00 37.00	\$1,862.21 \$329.67 \$2,191.88	30-29-22-34-0025
*16 SYCAMORE ST E *Ward: 5		*** Owner and Taxpa	yer ***			
Cdbk Development Llc 623 Buchanen St Ne	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 11 BLK 3	Grade and Pave Lighting			\$2,013.20 \$356.40	30-29-22-34-0024
Minneapolis MN 55413-4685 *20 SYCAMORE ST E *Ward: 5		*** Owner and Taxpa		40.00	\$2,369.60	
Delane W Jones Phyllis M Jones 13424 80th St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 8,9 & 10 BLK 3	Grade and Pave Lighting	50.33 8.91	120.00 120.00	\$6,039.60 \$1,069.20	30-29-22-34-0083
*34 SYCAMORE ST E *Ward: 5		*** Owner and Taxpa	ıyer ***		\$7,108.80	
Michael J Popehn Jennifer J Winker	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 7 BLK 3	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0021
38 Sycamore St E St Paul MN 55117-5559		*** Owner and Taxpa	ıyer ***		\$2,369.60	

15:09:49 12/21/2012	Public Improvement Assessment R	-	Project: 19138 As Resolution #:	smt: 135202	Manager: LM	Page 4
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Henry A Lezer 72 Sycamore St E St Paul MN 55117-5538	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 10 BLK 2	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0042
*72 SYCAMORE ST E *Ward: 5		*** Owner ***			\$2,369.60	
Laura E Lezer 72 Sycamore St E St Paul MN 55117-5538 *72 SYCAMORE ST E *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 10 BLK 2	*** Taxpayer ***				30-29-22-34-0042
Joseph Arias	Subj To Esmt For Sewer And Water; Lot 9 Blk 2	Grade and Pave Lighting			\$2,013.20 \$356.40	30-29-22-34-0087
631 Winslow Ave Saint Paul MN 55107-3643		Lighting	0.91	40.00	\$2,369.60	***EXEMPT***
*76 SYCAMORE ST E *Ward: 5		*** Taxpayer ***				
State Of Mn Trust Exempt P0 Box 64097 St Paul MN 55164-0097 *76 SYCAMORE ST E *Ward: 5	Subj To Esmt For Sewer And Water; Lot 9 Blk 2	*** Owner ***				30-29-22-34-0087 ***EXEMPT***
Joseph Arias 631 Winslow Ave	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 8 BLK 2	Grade and Pave Lighting			\$2,013.20 \$356.40	30-29-22-34-0039 ***EXEMPT***
Saint Paul MN 55107-3643 *80 SYCAMORE ST E *Ward: 5		*** Owner and Taxpayer			\$2,369.60	···EAEMPI···
Jonathan B Walker Kimberly L Starnes	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 7 BLK 2	Grade and Pave Lighting	50.33	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0038
86 Sycamore St E St Paul MN 55117-5538		*** Owner and Taxpayer			\$2,369.60	

\*86 SYCAMORE ST E

15:09:49 12/21/2012	Public Improvement Assessment R	oll by Address Ratification Date:	Project: 19138 Ass Resolution #:	mt: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID
Aihoa Tran Thomas Huynh	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 7 BLK 6	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0003
10 Sycamore St W St Paul MN 55117-5547 *10 SYCAMORE ST W *Ward: 5		*** Owner and Taxpay	/er ***	•	\$2,369.60	
Angela G Hernandez 866 Robert St S St Paul MN 55107-3258 *14 SYCAMORE ST W *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 8 AND LOT 9 BLK 6	Grade and Pave Lighting  *** Taxpayer ***	50.33	80.00 80.00	\$4,026.40 \$712.80 \$4,739.20	30-29-22-34-0078
Thomas J Delisle Carol A Delisle Trustee Po Box 17122 St Paul MN 55117-0075 *14 SYCAMORE ST W *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 8 AND LOT 9 BLK 6	*** Owner ***				30-29-22-34-0078
Denton Bruening 975 Argyle St St Paul MN 55103-1202 *22 SYCAMORE ST W *Ward: 5	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. N 2 5/10 FT OF LOT 19 AND ALL OF LOT 10 BLK 6	Grade and Pave Lighting  *** Owner and Taxpay	50.33 8.91 Ver ***	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-34-0004
Olufunmilade A Akinmusire 26 Sycamore St W St Paul MN 55117-5547 *24 SYCAMORE ST W	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 11 BLK 6	Grade and Pave Lighting  *** Owner and Taxpay	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-34-0005

 $StPaul\_Assessment\_Roll\_Assessment\_by\_Address$ 

15:09:49 12/21/2012	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19138 Assn Resolution #:	nt: 135202	Manager: LM	Page 46
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Oluwakemi A Arogundade 26 Sycamore St W	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 12 BLK 6	Grade and Pave Lighting	50.33 8.91	40.00	\$2,013.20 \$356.40	30-29-22-34-0006
St Paul MN 55117-5547 *26 SYCAMORE ST W *Ward: 5		*** Owner and Taxpay	/er ***	=	\$2,369.60	
Nickalos J Lucas 29 Acker St W St Paul MN 55117-5560	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 13 BLK 6	Grade and Pave Lighting	50.33	40.00	\$2,013.20 \$356.40 \$2,369.60	30-29-22-34-0007
*28 SYCAMORE ST W *Ward: 5		*** Owner and Taxpay	ver ***			
Nickalos J Lucas 29 Acker St W	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 15 BLK 6	Grade and Pave Lighting	50.33	40.00	\$2,013.20 \$356.40	30-29-22-34-0009
St Paul MN 55117-5560 * <b>760 SYLVAN ST</b> *Ward: 5		*** Owner and Taxpay	ver ***	-	\$2,369.60	
Perry D Sautbine 776 Sylvan St	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOT 14 BLK 6	Grade and Pave Lighting	50.33 8.91	40.00 40.00	\$2,013.20 \$356.40	30-29-22-34-0008
St Paul MN 55117-5547 *776 SYLVAN ST *Ward: 5		*** Owner and Taxpay	ver ***	=	\$2,369.60	
William J Kachel William J Kachel Sr	W 1/4 Of Lot 8 Blk 6	Grade and Pave Lighting	50.33 8.91	37.00 37.00	\$1,862.21 \$329.67	30-29-22-42-0056
884 Jackson St Apt 1 St Paul MN 55117-5541		*** Owner and Taxpay	/er ***		\$2,191.88	

\*104 YORK AVE

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address Ratification Date:	Project: 19138 Resolution #:	Assm	t: 135202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
North End Junction Llc 828 Jackson St Saint Paul MN 55117-5540	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL W 1/2 OF E 1/2 OF LOT 8 BLK 6	Grade and Pave Lighting		50.33	37.00 37.00	\$1,862.21 \$329.67 \$2,191.88	30-29-22-42-0055
*110 YORK AVE *Ward: 5		*** Owner and Taxpa	yer ***			\$2,171.00	
Brad L Benoit	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL E 50 FT OF	Grade and Pave		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0038
Janine B Benoit 111 York Ave St Paul MN 55117-5552	LOTS 12 AND LOT 13 BLK 3	*** Owner and Taxpa	ver ***	8.91	30.00	\$2,962.00	
*111 YORK AVE *Ward: 5		Owner and Taxpa	yei				
	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL E 1/4 OF LOTS	Grade and Pave		50.33	37.00	\$1,862.21	30-29-22-42-0054
Diane Hushman 112 York Ave Saint Paul MN 55117-5553	8 AND LOT 9 BLK 6	Lighting  *** Owner and Taxpa	ver ***	8.91	37.00	\$329.67 \$2,191.88	
*112 YORK AVE *Ward: 5		Owner and raxpa	yci				
	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 14 BLK 3	Grade and Pave		50.33	50.00	\$2,516.50	30-29-22-42-0039
Xo Lee Yang 15240 68th St S	INECHT OF ST. PAUL LOT 14 BLK 3	Lighting		8.91	50.00	\$445.50	
*115 YORK AVE *Ward: 5		*** Owner and Taxpa	yer ***				
	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 7 BLK 6	Grade and Pave Lighting		50.33 8.91	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0053
St Paul MN 55117-5553 *116 YORK AVE		*** Owner and Taxpa	yer ***		:	\$2,962.00	

Item Description  Grade and Pave Lighting  *** Owner and Tax  Grade and Pave Lighting  TITION TO Grade and Pave Lighting  *** Owner and Tax	<u>Unit Rate</u> 50.33 8.91  xpayer ***	50.00 50.00 50.00 =	\$2,516.50 \$445.50 \$2,962.00 \$2,962.00	Property ID
*** Owner and Tax  *** Owner and Tax  OUTION TO Grade and Pave  15 BLK 3 Lighting	8.91 xpayer ***	50.00 =	\$445.50 \$2,962.00 \$2,516.50	. — — — — — —
OITION TO Grade and Pave 15 BLK 3 Lighting				30-29-22-42-0040
15 BLK 3 Lighting			*	30-29-22-42-0040
Lighting	8.91	50.00	\$445.50	
	***	=	\$2,962.00	
Owner and Tax	xpayer ***			
OITION TO Grade and Pave		50.00	\$2,516.50	30-29-22-42-0051
Lighting		50.00	\$445.50 \$2,962.00	
*** Owner and Tax	xpayer ***			
OITION TO Grade and Pave	50.33	50.00	\$2,516.50	30-29-22-42-0041
Lighting		30.00	\$2,962.00	
•	*** Owner and Tax  *** Owner and Tax  Grade and Pave Lighting  Lighting	*** Owner and Taxpayer ***  ITION TO Grade and Pave 50.33 Lighting 8.91  *** Owner and Taxpayer ***  ITION TO Grade and Pave 50.33  ITION TO Grade and Pave 50.33	##* Owner and Taxpayer ***    Solution To   Grade and Pave   Solution   Solut	Lighting   8.91   50.00   \$445.50

15:09:49 12/21/2012	Public Improvement Assessment Ro	oll by Address  Ratification Date:	Project: 19138 Resolution #:	Assmt: 135202		Manager: LM	Page 49
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Uni</u>	it Rate	<b>Quantity</b>	Charge Amts	Property ID
Leslie M Dorman Bertha R Dorman 133 York Ave	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 17 BLK 3	Grade and Pave Lighting		50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0042
133 YORK AVE St Paul MN 55117-5552 *133 YORK AVE *Ward: 5		*** Owner and Taxpay	/er ***			\$2,962.00	
Gordon L Kuschel Linda M Kuschel	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 18 BLK 3	Grade and Pave Lighting		50.33 8.91	50.00	\$2,516.50 \$445.50	30-29-22-42-0043
137 York Ave St Paul MN 55117-5552 *137 YORK AVE *Ward: 5		*** Owner and Taxpay	/er ***		-	\$2,962.00	
Kara Jean Holt 6201 Cavell Ave N Brooklyn Park MN 55428-2650	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 19 BLK 3	Grade and Pave Lighting		50.33	50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0044
*141 YORK AVE *Ward: 5		*** Owner and Taxpay	/er ***			\$2,962.00	
	EDMUND RICE'S THIRD ADDITION TO THE CITY OF ST. PAUL LOT 20 BLK 3	Grade and Pave Lighting		50.33 8.91	- — <del>—</del> — 50.00 50.00	\$2,516.50 \$445.50	30-29-22-42-0045
St Paul MN 55117-5552 *149 YORK AVE *Ward: 5		*** Owner and Taxpay	/er ***		=	\$2,962.00	
Modernistic Die Cutting Inc  1987 Industrial Blvd S	SOO LINE PLAT NUMBER 5 VAC ST & ALLEY ACCRUING & THE FOL; THE W65.3 FT OF LOT A THAT ADJOINS	Grade and Pave Lighting		50.33 8.91	124.00 124.00	\$6,240.92 \$1,104.84	30-29-22-13-0115
Stillwater MN 55082-6049 *162 YORK AVE *Ward: 5	LOT B & ALL OF LOT B & LOT C	*** Owner and Taxpay	/er ***		=	\$7,345.76	
Total Grade and Pave: Total Lighting:	\$728,577.08 \$128,981.16						
Project Total:	\$857,558.24						

15:09:49 12/21/2012	Public Improvement Assessment	Roll by Address Project:	19138 Assn	nt: 135202	Manager: LM	Page 50
		Ratification Date: Resolution	n #:			
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	Charge Amts	Property ID
Less Total Discounts:	\$0.00	Residential Frontage:	8.91	23,200.00	\$687,184.00	
		Commercial Frontage:	8.91	5,752.00	\$170,374.24	
Project Total:	\$857,558.24	Frontage Totals:		28,952.00	\$857,558.24	

234 Parcel(s)

10 Exempt Parcel(s)